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Differentiate to optimize we get

fly ly s 3 211 x 411 13
3 0

Ema

hence the MAP is quite a bit higher than me in this case

which is reasonable since the prior
favors largervalues of x

that we have
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SincetheYi's are iid their joint PDF is the product of the

individual fy y é Father since A is fixed

denotes thatthis
isn't really afyly
conditional distribution

and therefore
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We want to optimize this
over 7 so it will be easier to

take the leg first We call this the loglikelitd l a
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Note that yi
doesn't depend on f so we can ignore it
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Now differentiate andset to zero
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